EDP &%l - F{ITXNEEHEM ( FHiEER )

Y8 - IRIER - STHRTB ISR CHELIC.

+ EDG
YL Zos
@ HiIR L EEREE) =
@ ‘EMEFRAE BRI A E R [EfEIE EE£
@ ERRER , (FEFEREIETE EBIT
@ ARERIET , RN ;gy

?ib%ﬂ\
EDP
TR
FEIFHMN
EDQ
EATR
EEIN
HgxR EDK
TEBLE
=] B 12 16
#h N 3 6 EDX
BARATTIZ mm 4 BEBLH
BReRE mm/s 10 40
EEAR 9242 ~ B55E ~ R EQX
SRR °C 5~40 ERAA
ERRERE % 35~85
EERT 212 \ 916 :;n.;m
BRI mm £0.05 R
T kg 0.15 \ 0.18
P-SERVO
=1 REEGNERE BHEE REEHS > SERREREANEL > SHREEBE Sm NIFE ° BESEIE 5m REZ T 10% © EEEHE
H)  EANSEBLAREEE  BeRIERERS
IRIERRAE

STHEFRIT A SR
DP - 16 - 4
R 1 ) 2 N
1| K% BIERRE EeEhEs 2 e 1718 (mm)
12 @12 OLC-4806L-00 4 4
16 @16 OLC-3003S-00

6-1.40



EDP %% - FITXEBEITM ( FIEER )
WHEBGEEHGE - EZFREFER

CHELIC.

YD BB AR IR S sh AR [E]

EDP12 iR E R h4RIE EDP16 /B ERAARE

0 0
0.7 0.75 0.8 0.9 0.95
BT (A) A (W)

FERBRALRE

ZRFAM
58K
b ] Blgg 12 16
8 kg 0.15 0.18

6-1.41




EDP &%l - F{ITXNEEHEM ( FHiEER )

AEEIBE - THMER CHELIC.
EDP12-EDP16
EDG
T
BEIFM
EDF
SEATR
EERT
EDM
RARX
BEHFM
EDP
T30
FEIFHMN
EDQ
TR
BEHFN
EDK
BENEATL
EDX
BERAH
EQX
BEBAH
ETB
AA BEIHEHEL
22 P-SERVO
ERE)RR
o) 0
> @ 1R{ERRAEE
*TFa;
@) ©
S N
THMEE
P Z8 HE P 28 HE
01 R mae 15 Eiz BT
02 bR mae 16 PRI BENT
03 TE mae 17 B A
04 BEE(E) e 18 ElEsH A
05 BER(A) e 19 B84 A
06 212 e 20 EEETEH P
07 RS EEE mae 21 E R RRE 184 Ao
08 RRAER (3) % 22 TEETES aail
09 RURER (B9) % 23 TE EEE 44 Aol
10 e % 24 ELFER (30 Bl 4k aai
11 EEEER T 25 LA (B B a2
12 HHHER e 26 EEmBRE B aail
13 mA e 27 IR B S aoi
14 TR B e

6-1.42



EDP £% - F{TXNEBEI M ( FIEEE )
SMEREIRZ R CHELIC.

EDP12

0.7

P
14

4-M2.5x0.458i8

76.4

62.4

18.5 275

2-M 3x0.5x9dp

Y

™
—

»

© |
I
0)
=0

F

6-1.43



EDP £% - F{TXNEBEI M ( FIEEE )
SMEREIRZ R CHELIC.

EDP16
EDG
Fist
BEE

EDF
0.7 TR
BEEIT

EDM

B3k
ZHIM

EDP
F41X
TEIT

&) \ EDQ
« 4 4 Ear

M EDK
J\ TEBLE

14

4-M2.5x0.45 88

5.7
:%):
O
O
a3
29
e
3

ETB
= o BEHEL

87.4

73.4

P-SERVO
EEEhaR

BERRE

18.5 27.5 2-M 3x0.5x9dp

13

=
I
¢

6-1.44



EDP &%l - F{ITXNEEHEM ( FHiEER )

OLC-4806L-00 BEEh2S:REAE

CHELIC.

A28

8-48VDC A E i 6A
EERES (REBRESS)

B IR R 22 ;
BffREINEE KR fRE
CW/CCW control

BFEE

1.0C BERK 300W

2 32(EERR (Vcc) 8-48 VDC

IRAEMEER 8A, <30S

4 EEBH IR 6A

5K E R EARIRR 16KHz

6. R SRSRERIEH 16KHz

TRARE (1 SEEUEE) 50000rpm

8.BME 95%

A/

9.BifiEA A /8t 4

10. 5 E81E “SP” Set value speed 0.... +5V (1024steps)

11.1EH (EN) Enable 0...+5V

12.75m1E “F/R” Direction 0...+5V

13.8%E (BK) =

14. R E[E1E “PG” 0C output(30V/10mA max)

15 ARREHE G Operation:LED light/Blink at 1 HZ
sError:LED Blink at 20 Hz

IRIBARAR

16./EBIRE -30....+45°C

17.#ERE -40....+85°C

18.8£ Approx. 90g

.RT (ExExE) 55x 86 x 21mm

20. 2L for screws M3

6-1.45



EDP &%l - F{ITXNEEHEM ( FHiEER )

OLC-4806L-00 EEEN2S:RAAE CHELIC.

SNREIFR
EDG
FAR
BE T

EDF
TR
80 BEHFT

EDM

B3k
ZHIM

EDP
F41X
TEIT

CHELIC. i ﬁ% o

27.5

55
-

AT
ZHEM

SE) as EDK

TEREE

o —
N SN OM~0OoO

12

ETB

21
‘9
]

L

| ‘@BHBBBBB@BB‘ W 44 P-SERVO

EREDER
L RIERAE
86
Pinl POWER+ Pin6 GND
Pin2 POWER - Pin7 PG
Pin3 MA Pin8 SP
Pin4 MB Pin9 F/R
Pin5 MC Pin10 EN

Pin 11 +5V, Output

6-1.46



EDP &%l - F{ITXNEEHEM ( FHiEER )

OLC-3003S-00 EEEhZS:REAE

CHELIC.

IHRE2 &
8-48VDC A E i 6A
EREREF (REERERS)
BIERER FRIE R 5
BT REDEE RiERE
CW/CCW control
BFEER
1.DC BERK 0w
2 32(EER (Vcc) 8-30 VDC
IERAEHEHER 5A, <60S
A EEH IR 3A
5.IKE R ERGISEER 20KHz
6. EARSAZE BT 20KHz
T.BRAREE (1 RESIEEL) 60000rpm
8.EME 92%
HA/HiH
9. EFRUAIA SR HA,HB,HC
10. 88U A /8t 5
11.:%E8fE “SP” Set value speed 0.... +5V (1024steps)
1215/ (EN) Enable  0..+5V
13.75E “F/R” Direction 0...+5V
14.3%E (BK) Brake 0..+5V
15.ZE[EIE “PG” TTL
16. AREEHETRIE
17. EBRAEAEE +5VDC
18. EmEEH AR GND
IRIGARAS
19./F80RE -30....+45°C
20.fBFRE -40....+85°C
2188 Approx. 20g
2.RT (RxEBExE) 65x52 x 18mm

23. 2K

for screws M3

6-1.47



EDP &%l - F{ITXNEEHEM ( FHiEER )

OLC-3003S-00 EEEhZS:REAE

CHELIC.

SNEBR R

52

65

EDG
FR
BEI

EDF
FATR

TEHIT

EDM

26.75

B3k

U#L

35

ZHIM

EDP
F41X
TEIT

= EDQ
Tzt

ZHEM

EDK
TEREE

18

EDX

BERAE

EQX

BEBAE

ETB
BEHEL

35

T P-SERVO
EEER

QOflo
\
i
|
!

gulll!
T

10.25

Pin1 +5V,Output
Pin2 HA

Pin3 HB

Pin4 HC

Pin5 GND

Pin6 MA

Pin7 MB

Pin8 MC

Pin9 POWER+
Pin 10 POWER -

6-1.48

14 15 16 17

Pin 11
Pin 12
Pin 13
Pin 14
Pin 15
Pin 16
Pin 17
Pin 18

18 BERRE

PG

SP

GND

GND
+5V,0utput
EN

F/R

BK



